
Left “Q” Grille
Center “Q” Grille
Right “Q” Grille
Lower “Q” Grille
Hardware Kit (components listed below)
Mounting Brackets
8-32 Half ESNA Nuts
Black Silicone Sleeves .156” x 1”
1.006” x .189” x .064” Black Plastic Washers
Grille Edge Guard - Black
#10 x 1-1/2” S.S. Pan Head Screws

1
1
1
1
1
12
16
10
4
5’
2

Description Part No.Quantity
1324-018B-08Q
1324-0184-08Q
1324-018A-08Q
1323-0183-04Q
1324-0182-08Q
1108-0158-97
1999-0065-00
1999-0241-00
1999-0264-00
1999-0095-00
1999-0237-00

4 Piece “Q” Part Number 1324-0185-08Q

1. Open the hood use a long flat blade screw driver to
rotate the exposed mounting clips that retain the 
upper grille. Turn them approx. 1/8 of a turn and 
the clips will release.

2. The top two mounting clips on each side that retain
the upper grille can be release by pushing in on the 
side of the clip and pulling straight out.

Left “Mesh” Grille Surround
Center “Mesh” Grille Surround
Right “Mesh” Grille Surround
Lower “Mesh” Grille Surround
Right Mesh Section
Right Center Mesh Section
Left Center Mesh Section
Left Mesh Section
Lower Mesh Section
Hardware Kit (components listed below)
Mounting Brackets
8-32 Half ESNA Nuts
Black Silicone Sleeves .156” x 1”
1.006” x .189” x .064” Black Plastic Washers
Grille Edge Guard - Black
Small Black Plastic Washers
#10 x 1-1/2” S.S. Pan Head Screws

1
1
1
1
1
1
1
1
1
1
12
18
10
6
5’
4
2

Description Part No.Quantity
1324-0024-08
1324-0023-08
1324-0022-08
1323-0025-04
1324-002A-08
1324-002B-08
1324-002C-08
1324-002D-08
1323-0021-04
1324-1902-08
1108-0158-97
1999-0065-00
1999-0241-00
1999-0264-00
1999-0095-00
1999-0256-00
1999-0237-00

4 Piece Mesh Part Number 1324-0102-08

WARRANTY INFORMATION:
E&G Classics, Inc. warrants its chrome parts and products to be free from defects in ma te ri al, workmanship or finish for Twenty-Four (24)

months from the date of shipment by E&G.  This warranty is limited to the repair or replacement, at E&G Classics option, of the defective part or
product.  

To obtain performance under this warranty you must:

1.) Present your E&G unit to an authorized distributor in your area with proof of purchase.
2.) If no distributor is available, contact E&G Classics (address below) for authorization to return unit.
3.) Returns - All unauthorized returns will be refused. Merchandise approved by E&G for return must have been purchased within the 

Twenty-Four (24) months. All returns require an authorization number obtained from E&G and the actual return must be accompanied
by the written authorization form filled out completely. All merchandise must be inspected upon receipt and shortages reported with
in 48 hours. All merchandise must be in a resalable condition. Merchandise must be packed carefully in the original packing. If origi-
nal packing is no longer usable, repack item(s) comparable to original manner. All returns are subject to a 25% handling charge. Special
order items are not returnable. Defective merchandise must have an explanation of the problem. No credit will be issued unless invoice
number and date of purchase has been supplied.  Manufacturer shall be sole judge of defects in a product.

4.) UPS accounts - All returns must be prepaid.  Do not send return shipments freight collect.  Once E&G has made its decision and it is 
a claim against our warranty policy, E&G will credit incoming freight on damaged parts.

5.) No discontinued part or parts changed due to body style are returnable.

For Return Authorization, write or telephone: E&G Classics, Inc., 8910 McGaw Court, Columbia, MD 21045  (410) 381-4900 Attn.:
Return Department

You are responsible for inspecting all packages containing E&G Classics' parts and product immediately upon their receipt and must file a
claim with the carrier for any damage dis clo sure by such inspection and notify E&G classics in writing at the above address of any such damage.
This warranty does not extend to any of our products which have been subject to misuse, neglect, accident or have been altered or repaired in
any way.  This warranty does not cover any accidental or consequential damages for any breach of this warranty agree ment.  E&G Classics shall
have no responsibility for any loss of time, inconvenience, com mer cial loss or consequential damage, nor shall E&G be liable for any injury or dam-
age to persons or property by reason of any defect in material, workmanship or finish of its parts or products.  This warranty gives you specific
legal rights and you may also have other rights which may vary from state to state.

IMPORTANT! The exposed edges of the stainless steel grille can
be extremely sharp. Please handle with care.

PLEASE RETAIN THIS INSTRUCTION MANUAL FOR FUTURE REFERENCE

Copyright © 2007 by E&G
Classics, Inc.

All right reserved.  The repro-
duction or uti li za tion of this
work in any form or any elec -
tron ic, me chan i cal, or other
means, no known or here af -
ter in vent ed, including xe rog -
ra phy, pho to copy ing, and re -
cord ing, and in any in for ma -
tion storage retrieval system
is for bid den with out written
per mis sion  of  owners.

Notes to the Technician:
E&G is proud to present this package to
you and reminds you that for technical in -
for ma tion, contact Lynn Eash or Lee Clary
at 410-381-4900.  Do not at tempt in stal -
la tion any E&G prod uct without first read-
ing the detailed in struc tions.  E&G Clas sics
will not war rant dam aged parts or ve hi cle
due  to  altered  in stal la tion  in struc tions.

2008 Nissan Titan 
“Q” & Mesh Grille

Installation
Instructions

J 09 G7R

1

2

3. Release the lower three (3) mounting clips from the 
radiator support panel by inserting a long thin 
screwdriver between the grille and the support 
panel, push down and twist. 

3



6. Apply protective masking tape to the factory upper
grille as shown. This will help protect the factory 
grille finish while installing the stainless steel grille 
sections.

7. For “Q” grilles and mesh frames: Peel the protective cover
from the stainless steel grille & emblem surrounds and 
remove the glue residue using solvent and glass cleaner. 

8. Align the stainless steel “Q” grille sections or the mesh 
and stainless steel frames into the factory grille openings 
and install the supplied black silicone sleeves to hide the 
mounting studs were visible (“Q” grille shown, mesh 
same).

9. Align the mounting brackets (A) over the studs as 
shown. Align the large black plastic washers (B)
over the studs as shown. Install 8-32 ESNA lock 
nuts and tighten until snug (Mesh grille shown,“Q” 
grille same). DO NOT OVERTIGHTEN OR YOU 
COULD DENT THE STAINLESS STEEL FRAME AT THE
STUD LOCATIONS! 

10. Align the upper mounting brackets (A) and large 
black plastic washer (B) over the studs as shown. 
Install 8-32 ESNA lock nuts and tighten until snug 
(Mesh grille shown, “Q” grille same). DO NOT 
OVERTIGHTEN OR YOU COULD DISTORT THE 
GRILLE OR FRAME!

11. Remove the factory clips in the radiator support 
panel and reinstall them into the upper grille. The 
side clips are different, they feature an extra leg on 
the clip that must be installed as shown.

6 6
8

A

B

A

B

11

5. Place the grille onto a clean work surface and 
remove the left and right air deflectors from the 
back fo the upper grille by prying out with a flat 
blade screw driver.

4. Remove all the factory mounting clips from the 
radiator support panel. They will be reinstalled back
onto the assembled grille prior to reinstalling the 
upper grille.

6



13. Reinstall the factory air defelctors back onto the 
assembled upper grille by snapping them back into

place.

16. For “Q” grille: Install two (2) black silicone sleeves 
onto each mounting stud (trim the ends off with cut-
ters or a razor blade). Install the black trim guard 
around the edge of the grille with the seam at the 
top.

14. Install the black trim guard around the grille frame with 
the seam at the top. For front license plate equipped 
vehicles: place the seam at the bottom.

15. Align the mesh section over the frame, making sure the 
studs pass through the holes in the mesh. Install a black 
plastic washer and an ESNA nut onto the four (4) outer 
1/2” studs and tighten. DO NOT OVERTIGHTEN OR 
YOU COULD DENT THE STAINLESS STEEL FRAME!

17. For “Mesh” grille: Install two (2) black silicone sleeves 
onto each mounting stud (trim the ends off with cut
ters or a razor blade). Install the short silicone sleeves 
removed for mesh installation (trim as needed) back 
onto the 1/2” studs to conceal the studs once the 
grille is installed into the lower opening.

18. For vehicles equipped with a factory front license 
plate bracket, remove the phillips screws securing 
the bracket to the lower grille insert and remove it 
for modifications.

12. Remove the factory clips in the radiator support 
panel and reinstall them into the upper grille.

12

18

17

16



22. Reinstall the upper grille assembly to finish the  
installation.

21. Reinstall the modified front tag bracket using the 
supplied #10 x 1-1/2” Pan head screws supplied in
the hardware kit. The screws will pass between the
frame and the lower fin or mesh opening and 
reuse the extisting tag mounting holes.

20. For vehicles equipped with a front tag bracket, 
grind the upper portion of the screw boss flat, 
leaving the screw hole intact (cross-hatched areas 
shown). This will allow the tag bracket to fit flush 
against the grille, reusing the factory mounting 
holes.

19. Align the lower grille into the opening, making 
sure the studs fit above and below the factory hor-
izontal lower grille fin. This is a tight fit to keep the 
grille locked in place. Install the lower mounting 
brackets and ESNA lock nuts until the grill is snug 
(Q grille shown, Mesh grille same). DO NOT OVER
TIGHTEN OR YOU COULD DENT THE GRILLE!

21

19


